APPC

Fall 2002 Final Examination

Answer the following problems, documenting your solution using nouns, verbs, and –ly words. {10}

1. Give the following solutions for the motion modeled by this function with velocity units in m/s and focusing on the first 5.0 seconds:
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a) The scalar value of the tangential acceleration with respect to time {5}.
b) The average acceleration from 0.0 to 1.0 seconds {5}.
c) The instantaneous acceleration at 3.5 seconds {5}.
d) The function for the Distance vs. Time with a graph {10}.
e) The function for the Acceleration vs. Time with a graph {10}.
f) Use a graph to determine the distance traveled from 1.0 to 3.0 seconds and the displacement {10}. 

g) Use a graph, different from the Velocity vs. Time graph, to determine the velocity at 1.75 seconds {5}. 
2. Given the following set of vectors, determine the resultant {10}:
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3. If the following is a graph of the velocity over time for a pup in a plane, tell the story of the motion that makes this graph {10}.
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4. Sketch the Acceleration vs. Time graph for the pup in question 3 {10}.
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5. Given this set of time data (in seconds) for dropping an object from 1700.0 centimeters, answer the following questions:
a) Make a histogram of the data {10}.
b) Do a T-Test at the 95% level {10}.
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6. Using one of the readings explain why you are being asked to read and write in APPC. Specifically, how will this ready you for the APPC Examination in May {10}?
7. A ball is thrown at an angle of 352 degrees with the horizon toward a fence 2277 meters away. The fence is 25.0 meters tall and the ball “just” misses it. Sketch the graph of X-position vs. Time {5}, Y-position vs. Time {5}, and Y-position vs. X-position {5}. Give the equations for each graphical model {15}. Use the “given” values as the constants {10}. Is this a Dilemma {5}?
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